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Question Number : 1 Question Id : 2549896855 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Random Access Memory (RAM)isa___ type of memory.
Options :

1. % short-term

2. % permanent

3. ® flash

4, * smart

Question Number : 1 Question Id : 2549896855 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

380 TR 9Ot (RAM) Ueh _ UahRR &bl BHIRT 81
Options :

1, ¥ o @y (mé-ee)

2. ¥ Wt (RAHe)

3. ¥ R

4. % @é

Question Number : 2 Question Id : 2549896998 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Three types of compact disks include CD, CD-Rand _____.
Options :

1. ¥ CD-W

2. % CD-RAM

3. # CD-DVD

4.+ CD-RW



Question Number : 2 Question Id : 2549896998 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

CD, CD-R3R___ Fopiere f3%h o 9 UhR 81
Options :

1. % CD-W

2. % CD-RAM

3. % CD-DVD

4.+ CD-RW

Question Number : 3 Question Id : 2549897148 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following app the best way to write quick notes on your Windows 10 desktop by
signing up with Microsoft account?

Options :

1. #® Sticky pad

2. # Adobe Reader
3. ¥ Sticky notes
4. % Sketchbook

Question Number : 3 Question Id : 2549897148 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafad # & o= 913U Microsoft @rd & A1 T13 31U ehich 3T fdSlsT 10 S%heid R @Rd el fora= ot
oY 31T R0kl 872

Options :

1. % et
2. % geldt I
3. ¢ et Fieg
4, % HAgH

Question Number : 4 Question Id : 2549897528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut is used for selecting to the right word by word in Open
Office Writer?

Options :
1. # Arrow Right



2. ® Shift + Arrow Right
3. % Ctrl + Shift + Arrow Right
4. #® Ctrl + Arrow Right

Question Number : 4 Question Id : 2549897528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

U SHTThE SR H 063 T A &3 3R I A & oy FmfalRad 7 9 fohg diete iidene et Iuai ferar Sirar
8?

Options :

1. ®* Arrow Right

2. ® Shift+Arrow Right

3. ¢ Ctrl+Shift+Arrow Right

4. ® Ctrl+Arrow Right

Question Number : 5 Question Id : 2549898463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which function returns the matrix inverse of an array in MS-Excel 2019?
Options :

1. % MINV function

2. ¥ MINVERSE function

3. ¥ INVM function

4, ®* INVERSEM function

Question Number : 5 Question Id : 2549898463 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 &, &19-91 thar[ R a1 ufdend ey a1 g?
Options :

1. % MINV tharH

2. ¥ MINVERSE theRM

3. # INVM therrH

4. ¥ INVERSEM thas

Question Number : 6 Question Id : 2549899322 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
is generally used to play fast computer games.
Options :



1. * Track ball
2. ¥ Joystick
3. ®* Touch surface

4. * Touch screen

Question Number : 6 Question Id : 2549899322 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

_ o1 IUINT AHAR WR A9 hgeR A7 Wel o g fohar Srar 81
Options :

1. % ¢ qidd

2. ¥ Sifafes

3. ¥ 9 Why

4, ¥ T &hH

Question Number : 7 Question Id : 25498911601 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
is used for storing programs and data currently being processed by the CPU.
Options :
1. * Mass memory
2. ¥ RAM
3. ¥ ROM
4. # PROM

Question Number : 7 Question Id : 25498911601 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

goA | g (CPU) gRT SE1fard T 3R ST ohl Sl i o folq chl=-HY heger AHRY bt IUINT fohar Sirdm
8?

Options :

1. ¥ A9 A9RY (Mass Memory)

2. ¥ RAM

3. ¥ ROM

4. # PROM

Question Number : 8 Question Id : 25498911739 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following programming language is used in general for Artificial intelligence based



problems?
Options :
1.%C

2. ¥ Python
3. ¥ Assembly
4. % BASIC

Question Number : 8 Question Id : 25498911739 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

iithiraret gefersia smutRa FaEsti o forg Fefafad | @ el it uinfaT 9reT o1 J= &9 d IughT fhar
ST 872

Options :

1.% C

2. ¥ Urgyd (Python)

3. ® 3dqe! (Assembly)

4. % 3f¥es (BASIC)

Question Number : 9 Question Id : 25498911806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

There are three types of data found in a spreadsheet:
Options :

1. % Number, Text and Logical

2. # Data, Words and Object

3. % Data, Numbers and Labels

4. % Equation, Data and Object

Question Number : 9 Question Id : 25498911806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tesfte # A= 7 & -8 fiF UehR o ST uTg Si1d 87
Options :

1. ¢ dad, TRe 3R dlfoichd

2. % 32, 989 3R Slesiae

3. ¥ 3, ey 3R ddeT

4, % I, 3T AR SHisstare

Question Number : 10 Question Id : 25498913719 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following has the .xps file extension?
Options :

1. ¥ XML paper specification

2. ®# Microsoft Word

3. #¥ Notepad

4. ¥ Microsoft Excel

Question Number : 10 Question Id : 25498913719 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

= & O forgaRT WIget TaRads T .xps gid1 872

Options :

1. ¥ YagaTa diR WfAfthehe™ (XML paper specification)
2. % Orgsigiae g8 (Microsoft Word)

3. # Ticds (Notepad)

4. % Orgehigiae Tadd (Microsoft Excel)

Question Number : 11 Question Id : 25498929733 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is false with reference to memory unit of a computer system?
Options :

1. ® The Memory unit can be categorized in two ways namely, primary memory and secondary
memory

2. ¥ Secondary storage is the fastest memory than primary memory that operates at electronic
Speeds

3. # The most common examples of primary memory are RAM and ROM

4. ® Secondary memory is used when a large amount of data and programs have to be stored for
a long-term basis

Question Number : 11 Question Id : 25498929733 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

R faTed & AdRt gfae & deof # Aefafead § @ ot 91 71erq 8?2

Options :

1. ® AR} A ol &1 avg O aficpd fohar ST Hehatl 8, UTgA<Y AHRY 3R Jhedt AARY

2. At T o AN B g F e A AR & St s e i & S B &
3. % UrgHY AR & 999 31TH 3are0l RAM 3R ROM 8



4. % Johe AHRY T IUANT 9 fohar ST & ST a1t AT & ST 3R U oht Erefahtieren SR UR Usld hedT
gidT g

Question Number : 12 Question Id : 25498929742 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

defines the rights of individual users or organisations to keep their personal data and
information secret.

Options :

1. # Phishing

2. ¥ Data Privacy

3. ¥ Software piracy

4. % Spamming

Question Number : 12 Question Id : 25498929742 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
, AR IUANTRATSTT AT TTST oh 3T AR ST 3R AT ohl T I&A & YRR ht IRETT et

gl

Options :

1. % fofeim

2. ¢ 31 urga

3. ¥ gigeaR gt
4, % @

Question Number : 13 Question Id : 25498929844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following does NOT represent a barcode reader type?
Options :

1. % CCD

2. ® Laser

3. ¢ Device-Driver scanner

4. % Pen-type

Question Number : 13 Question Id : 25498929844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAafefea & @ o9 91 TRl AR &l U UahR 81 872
Options :



1. ® 1S (CCD)
2. % ooR
3. ¢ fSarEa-gRR W

4, % U9-T18Y

Question Number : 14 Question Id : 25498930885 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a rule listed in the ten commandments of computer ethics as
defined by the Computer Ethics
Institute?

Options :

1. ®* Thou shall not use a computer to steal.

2. ¥ Thou shall snoop through other people's computer files.
3. ¥ Thou shall not use a computer to bear false witness.

4. * Thou shall not appropriate other people's intellectual output.

Question Number : 14 Question Id : 25498930885 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

R AReha TR gRT URIRE dger Afehdt 1 o chriedied # FrafafRd & & w-ar Pom getag 78 272
Options :

1. ® 37T hGR I IUANT ARI A o folg g1 hedt |

2. ¥ 31U 3= AN hl SR WiSell oh ATHH Y dTeh-3ich el |

3. % 3Ty ) ATl 3 & g dhwgeR T U TR e

4. % Y =g ANl & difgen aRoms &t IR T8 seed|

Question Number : 15 Question Id : 25498931059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary function of which unit is to send the processed results to the user?
Options :

1. % Input unit

2. % Output unit

3. % ALU

4. ¥ Memory unit

Question Number : 15 Question Id : 25498931059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



fora gfAe a1 urufier wrd IuaRTeRdl ot daTfard aRumd Asr 872
Options:

1. % Fge gfie

2. ¥ J3eYe gfAe

3. % QU (ALU)

4. % A e

Question Number : 16 Question Id : 2549898802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

is @ network located entirely on one site such as an office, school or within a group of
buildings that are in close area, that are connected together.

Options:
1. ¥ LAN
2. % PAN
3. # MAN
4. ¥ WAN

Question Number : 16 Question Id : 2549898802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Teh eddh 8, S U ag @ U &l A13e SIY; e, Whet AT 3199 | S[S! §3 Mehead! sARAl & 98
R fQq giar |

Options :
1. LAN
2. % PAN
3. ¥ MAN
4. % WAN

Question Number : 17 Question Id : 2549899519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the Decimal Equivalent of the given Octal Number (60)g ?
Options :

1. ®¥ 60

2.¥ 48

3. % 64

4. % 84

Question Number : 17 Question Id : 2549899519 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
& 7S 3rEeh T (60)g T ST THIT T 872

Options:
1. % 60
2.¥ 48
3. % 64
4, % 84

Question Number : 18 Question Id : 2549899545 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following is famously associated with the Facebook as a founder?
Options :

1. % Mark Zuckerberg

2. * Tim Berners-Lee

3. # Charles Babbage

4. # Paul Buchheit

Question Number : 18 Question Id : 2549899545 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAefafad 7 @ sl thager o deuTdes & &4 7 Uflg 872
Options :

1. ¢ HTeh Jehat

2. ® fom ged-<ft

3. ¥ ey das

4. % ofer gase

Question Number : 19 Question Id : 25498910866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The full form of CCin an email is
Options :

1. ® corrected copy

2. # cancelled copy

3. #® curation copy

4. ¥ carbon copy



Question Number : 19 Question Id : 25498910866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
3-AeT # CC o1 quiey a1 glat 8?2
Options:

1. # corrected copy (RS hidl)

2. ® cancelled copy (hfies ardl)

3. ¥ curation copy (SRR hidl)
4.+ carbon copy (chTel ehrdt)

Question Number : 20 Question Id : 25498911232 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A file-infecting virus infects files with ___ extensions.
Options:

1. ¥ .exe and .com

2. % .docand .xlIs

3. # .ppt and .pxs

4. ® y2k and .wmk

Question Number : 20 Question Id : 25498911232 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Uch hISA-GhiAd dIRT UGN dTet] B! bl HehiHd dhedl gl
Options :

1. ¥ .exe 3R .com

2. % doc 3R xls

3. # ppt 3R .pxs

4. % y2k 3R .wmk

Question Number : 21 Question Id : 25498913432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the MPEG compression technique?
Options:

1. % MPEG-1

2. # MPEG-2

3. ¥ MPEG-4

4, ¥ MPEG-12



Question Number : 21 Question Id : 25498913432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

= & & o9 Y goh MPEG ddle dehriteh -Tal 872
Options :

1. % MPEG-1

2. # MPEG-2

3. ¥ MPEG-4

4. MPEG-12

Question Number : 22 Question Id : 25498913505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the output gain of audio compression controls, if the audio signal has been compressed, the
overall level of the signal will be

Options :

1. ¥ maintained
2. ¥ reduced

3. # increased

4. % ignored

Question Number : 22 Question Id : 25498913505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Sifeat ddte fAd=or & am3eye 1 #, afe sAifeat e st ddifed forar sirar 8, af e & 990 TR R
U1 gST?

Options :

1. ¥ Qe I TR UR SRR M

2. ¥ g S

3. % o SIQm

4, % g YT gl g

Question Number : 23 Question Id : 25498913843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ____ helps the user to detect any changes made to the original file.
Options :

1. # File Type Monitoring

2. * File Hash Monitoring



3. ¥ File Integrity Monitoring
4. % File Authenticity Monitoring

Question Number : 23 Question Id : 25498913843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ST i 7ot WIge (Original File) # fhy g forddt off sgetra o1 uar &= & Aeg st 8|
Options :

1. ¥ g <18y AR (File Type Monitoring)

2. % wIgd 81 AT (File Hash Monitoring)

3. ¢ Ise S AR (File Integrity Monitoring)

4. % whrser ATARAAE AifAeRaT (File Authenticity Monitoring)

Question Number : 24 Question Id : 25498918510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first computer virus was called ___, which was written by Richard Skrenta.
Options :

1. % Danish Boot

2. ¥ Elk Cloner

3. # Melissa.A

4. % Mr. Klunky

Question Number : 24 Question Id : 25498918510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
AT Ugell hgeR IRy Reré The (Richard Skrenta) gRT forar mar 7l

Options :

1. % Danish Boot
2. ¥ Elk Cloner
3. # Melissa.A
4. % Mr. Klunky

Question Number : 25 Question Id : 25498922653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Advanced Boot Options screen can be started by pressing the ____ key before Windows starts.
Options :

1. v F8

2. % F7



3. % F4
4. % F1

Question Number : 25 Question Id : 25498922653 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fISIST & I 81 @ Ugel ___ <l hl qaTehs TSI ¢ TR ThiF @iefl ST Hehel! g
Options :

1. ¥ F8

2. % F7

3. % F4

4, % F1

Question Number : 26 Question Id : 25498924073 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the full form of SSL?
Options:

1.+ Secure Socket Layer

2. ® Secure Standard Layer

3. ¥ Secure Socket Location

4. # Safe Socket Layer

Question Number : 26 Question Id : 25498924073 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SSL 1 gufey &1 8?2

Options :

1. ¥ Secure Socket Layer (RieRIR Hiche iaR)

2. ® Secure Standard Layer (iR ¥€E2 aR)

3. # Secure Socket Location (iR Tiche Alha )

4. ¥ Safe Socket Layer (4t Hiche aaR)

Question Number : 27 Question Id : 25498924313 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The virus can affect both the boot sector and the program files at the same time.
Options :

1. ¥ Polyboot.B

2. # Boot Sector




3. ¥ Multipartite

4. % Macro

Question Number : 27 Question Id : 25498924313 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IR Qoh g1 99T H §¢ Yo 3R I HISd &1 bl UH1fad e GehdT &
Options :
1. ® dfeftge. st (Polyboot.B)
2. ¥ g¢ 9z (Boot Sector)

3. ¥ AluRerse (Multipartite)
4. % Agpt (Macro)

Question Number : 28 Question Id : 25498924458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You can choose to create a that will appear at the end of every email we send, either as a
contact information or a favorite quote.

Options :

1. % signature

2. % subject

3. # formatting options

4. # attachments

Question Number : 28 Question Id : 25498924458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

YTk 1 g Hehd g Sl §AR GRT Aol ST Tt Udeh Hel o 3id H, HUeh SRR T UHEIET 3GR0T &
U ¥ i@ &l

Options :

1. ¥ signature (RmwR)

2. ® subject (FsSiaR)

3. # formatting options (TRIATET TRiY)

4, % attachments (31¢THcH)

Question Number : 29 Question Id : 25498924593 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
EPS file format represents which of the below file?
Options :



1. % Encapsulated PostScript
2. ¥ Audio File
3. * Programming/Scripting file

4. % Hypertext file

Question Number : 29 Question Id : 25498924593 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

EPS wigd e, Rmfeifad & 9 forg wigd ol <k ot 82
Options :

1. ¢ GHhUgeIde Uik &R (Encapsulated PostScript)
2. ® 3fifeat wiget (Audio File)

3. % yiurfH/fehfidt wger (Programming/Scripting file)
4. ¥ BIIURERT WIsd (Hypertext file)

Question Number : 30 Question Id : 25498940434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Testing any software or an application according to the client's needs without using any
automation tool is known as testing.

Options :

1. ¥ automation
2. ¥ mechanical
3. ¥ manual

4. % gutomatic

Question Number : 30 Question Id : 25498940434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fohelt TR et a1 IUANT fohy famT FetTEe ht STl o IR fohedt AitedaR a1 Yiterah’™ ol uieror (Testing)
T TRIeToT (Testing) & =9 H STHT SITdT 8|

Options :

1. ® JleAA
2. % fdhfadpa
3. ¢ 4g3ra
4, % 3erAfeen

Question Number : 31 Question Id : 2549897228 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Who among the following is the co-founder of Twitter?
Options :

1.+ Jack Dorsey

2. # Andrew McCollum

3. # Jimmy Wales

4. * Steven Levy

Question Number : 31 Question Id : 2549897228 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
RrfeIfae § @ @ efie % Tg T 82
Options :

1. ¢ Sep St

2. % Ug Aqche

3. ® foeft ae

4. ¥ e ofdt

Question Number : 32 Question Id : 2549897806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is used to search other websites by typing a keyword?
Options :

1. # Social networks

2. ¥ Search engine

3. * Routers

4. % Protocols

Question Number : 32 Question Id : 2549897806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfalRaa § @ forgent Iubiv Fias e15u ieh 31— dagTsel ot W@ioH o forg fehar SiTaT 82
Options :

1. ® IS Acah

2. ¥ g9 g5

3. % Y3

4. % AT

Question Number : 33 Question Id : 2549897981 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is a communication service on Internet?
Options :

1. # Web services

2. ¥ Telnet

3. ®# FTP

4. % Gopher

Question Number : 33 Question Id : 2549897981 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fAfafeaa & @ a9 @t $exdec R TR dar 82
Options :

1. % dg T

2. ¥ e

3. ¥ gl (FTP)

4, % o1 (Gopher)

Question Number : 34 Question Id : 2549898010 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the use of a UPI PIN in BHIM?
Options :

1. % Authenticate all bank transactions
2. ® Encrypt all bank transactions

3. ® Decrypt all bank transactions

4. * Scan all bank transactions

Question Number : 34 Question Id : 2549898010 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ot (BHIM) & g dt.amg (UPI) o Y o Iuitfirar 872
Options :

1. ¢ Gt dor A=A hl THIOIT AT

2. ¥ AL dch o ehl Yh e

3. ¥ GHE sfeh oI ol fSfehte e

4. ¥ AL sch I-&T hl Tl el



Question Number : 35 Question Id : 25498911064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to decrease font size in Microsoft Word 2010?
Options :

1. % Ctrl+ F+>

2. ¥ Ctrl + Shift + <

3. % Ctrl +>

4. % Ctrl+ F+<

Question Number : 35 Question Id : 25498911064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A1gshigiue Word 2010 #, Thiwe o 31TehR ahi hH the oh folT ITINT fohdl ST aTelT hiais Riféahe T 87
Options :

1. % Ctrl+ F+>

2. % Ctrl + Shift + <

3. % Ctrl +>

4, % Ctrl+ F+<

Question Number : 36 Question Id : 25498911067 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What Does TrueType Font mean?

Options :

1. ® Itis a type of protocol

2. ® Itis a type of file extension

3. # Itis a type of computer language

4. ¢ It is a font standard used in Microsoft and Apple OS

Question Number : 36 Question Id : 25498911067 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

¢ T15Y i~ o ol 319 §7?

Options :

1. % Ig Ueh UhR & Uielhid gl

2. % Ug Uch UhR I sl TR gl

3. ¥ gg Uch UhR Sl chZR HINT 81

4. ¢ gg Microsoft 3R Apple OS & IualT fohaT ST dTell Teh Wi=e AT ¢




Question Number : 37 Question Id : 25498911084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How many levels of indented text can appear in a multilevel list in an MS-Word 2010 document?
Options :

1. % Nine

2. # Seven

3. # Eight

4. % Ten

Question Number : 37 Question Id : 25498911084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Teh MS-Word 2010 SfegHe # Yeh Ig&ia et # §8¢ fohy 7Y ¢ere o fohat R fears & dend 82
Options :

1.9 41(9)

2. ® gra (7)

3. ¥ 315 (8)

4. % g4 (10)

Question Number : 38 Question Id : 25498911510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements in Microsoft Word is correct?
Options :

1. ¢ Capitalize names of days

2. ¥ Capitalize last letter of table cells

3. ¥ Capitalize last letter of sentences

4. % Correct THree INitial CApitals

Question Number : 38 Question Id : 25498911510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Word # fA=feifaa & @ siH-a1 = a8t 82

Options :

1. ¢ Capitalize names of days (hftUearEst 7= 3Th S91)

2. % Capitalize last letter of table cells (hfUeaATSST ARE X 3ith daet Tod)
3. # Capitalize last letter of sentences (hUTAEST ARE Tex 3Hth J<—9)
4. ® Correct THree INitial CApitals (&R 3t sAfraer hfteew)



Question Number : 39 Question Id : 25498911850 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

While working with line and paragraph spacing in the Paragraph group, you can use Microsoft
Word document's feature to save all of the formatting changes you made and automatically
apply them to new documents.

Options :

1.+ Set as Default
2. % Apply

3. ® Ok

4. % Tabs

Question Number : 39 Question Id : 25498911850 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IRTUTh YU H T3 3R IRIUTH W & 1Y ¥ ohid 999, Y Agehiaioe Word Siagfc s _ hIRR &l
ITINT 370 gRT fohy 71g Goft tiAfda uRed=T el 99 e & folg &R Tehd 8 3R Wanfeld U & I8 A7 ST IR
AR R Hehd B

Options:

1. + Te 7g fSwiee (Set as Default)

2. % g (Apply)

3. ® 3fich (Ok)

4. % ¥=g (Tabs)

Question Number : 40 Question Id : 25498911866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select to see a list of all changes next to your document while tracking changes in the
MS-Word 2019.

Options :

1. ®* Reviewing Pane Above

2. ¥ Reviewing Pane Below

3. ¥ Reviewing Pane Horizontal

4. ¥ Reviewing Pane Vertical

Question Number : 40 Question Id : 25498911866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
MS-Word 2019 H uRad=l @l ¢eh ehid THT U SIS o 3HT Gt gRercH1 dhl et - & fag
|



Options :

1. ®* Reviewing Pane Above

2. ¥ Reviewing Pane Below

3. # Reviewing Pane Horizontal

4. ¥ Reviewing Pane Vertical

Question Number : 41 Question Id : 25498911895 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

view in Microsoft Word 2019 displays the original document without tracked changes and
comments showing. However, any tracked changes or comments in the document that have not
been accepted, rejected or deleted remain in the document.

Options :

1. # Final Showing Markup
2. * Final

3. ¥ Original

4. # Original Showing Markup

Question Number : 41 Question Id : 25498911895 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TG S 2019 % o, ¢k fohg 71q uRadHl (2fw1) ok fewaforat (evicw) @t ey famm wer Stagdie wefia
AT 1 ETeiiien, Sfargie 3 far mar i oft ¥ ufad (i) ar Reeforat (adew) O i, srefterr a1 ger
(Feefte fova) e mar 8, o STagAe # a+it &<l 81

Options :

1. ¥ AT LM AThay

2. % hrgdd

3. ¢ SRfSe

4, % 3NRFS=eT Mmfe Arhsg

Question Number : 42 Question Id : 25498925260 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ___ symbolis used to denote copyright.
Options :

1. % &

2.% @

3.0

4, % #



Question Number : 42 Question Id : 25498925260 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HIIRISE it G & flT I a1 IuahT fomam STrar 8
Options:

1. % &

2. % @

3.0

4, % #

Question Number : 43 Question Id : 25498938395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The process by which URLs are modified and standardised in a consistent manner is called:
Options :

1. # URL modification

2. % URL support

3. ¥ URL balancing

4. % URL normalisation

Question Number : 43 Question Id : 25498938395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

39 UfehaT okl oRIT hgd & fdeh dgd URL &t Idd ¥ & GeMifad 3R Arehichd fohar Sirar 82
Options :

1. ® URL "ned (modification)

2. % URL 954 (support)

3. ® URL "deH (balancing)

4.+ URL gmE=fiexur (normalisation)

Question Number : 44 Question Id : 25498941475 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

To use the in Microsoft Excel, bring the mouse pointer at the bottom right corner of the cell.
It will change into a + sign. Left-click on it and drag it downwards to the required range of cells.
Options :

1. # Fill handle
2. # Pivot table
3. # Pointer
4. % Ribbon



Question Number : 44 Question Id : 25498941475 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HAIShIATUE Excel H, o1 JUTNT & o folg A1 Rk ol Wt o faet 314 onlA | A1) 98 Qo + g # agd
ST | 39 WR JAue-faetan & 3R 39 i i 3TR Wiaeh? 3asyeh G hi 35T # of SU|

Options :

1. ¢ fthet et

2. ¥ fUqe ¢ga

3. ¥ giE

4. % R

Question Number : 45 Question Id : 25498941484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, if cell B2 contains the date of birth of a person, his/her age can be
computed by .

Options :

1. ¥ =AGE(B2, TODAY(),"Y")

2. # =DATE(B2, TODAY(),"Y")

3. # =DATE(TODAY(),B2,"Y")

4. % =DATEDIF(B2, TODAY(),"Y")

Question Number : 45 Question Id : 25498941484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

ATgehIETRe Excel 2019 H, afd ¥t B2 # fohelt aafch ot S=afafd 8, Ot STh sg R Torer _ g i ST Heed!
2l

Options :

1. ®* =AGE(B2, TODAY(),"Y")

2. # =DATE(B2, TODAY(),"Y")

3. # =DATE(TODAY(),B2,"Y")

4. ¥ =DATEDIF(B2, TODAY(),"Y")

Question Number : 46 Question Id : 25498941493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct sequence of steps for naming a range of cells in Microsoft Excel 2019.
Options :

1. * Data -> Data Tools group -> Text to Columns



2. ¥ Formulas -> Defined Names group -> Define Name
3. # Home -> Cells group -> Format

4. #® View -> Show group -> Headings

Question Number : 46 Question Id : 25498941493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 # @ &l 3T & ATHeR0T & folg TRUT & Hal o hl Uga i

Options :

1. ® 37 -> 32T ¥ JU -> ¢ ¢ hierrd (Data -> Data Tools group -> Text to Columns)

2. ¥ BIHAY -> fSthrgs 499 qu -> fethrgd 47 (Formulas -> Defined Names group -> Define Name)
3. ¥ g° -> o9 U -> thide (Home -> Cells group -> Format)

4. % g -> U -> St (View -> Show group -> Headings)

Question Number : 47 Question Id : 25498941501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An MS-Excel macro-enabled workbook has the filename extension __
Options:

1. % xls

2. ¥ xlsm
3. # Xxlss
4

. % xlsx

Question Number : 47 Question Id : 25498941501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel #chl-g-eee dchech J ThIgel A7 Taaes _ gidT 8l
Options:

1. % Xxls

2. ¥ xlsm
3. ¥ xlss
4

. % xlsx

Question Number : 48 Question Id : 25498941502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The keyboard shortcut Alt+ F11 ___ in Microsoft Excel 2019.
Options :

1. % closes the Developer tab



2. % executes a macro
3. # opens Help Menu for macros

4. ¢ opens the Microsoft Visual Basic For Applications Editor

Question Number : 48 Question Id : 25498941502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 # FielS iféepe Alt + F11 |

Options :

1. ® STAWR ¢ ol & hAT 8

2. % Aepl ol Fwifed T 8

3. % Hghiel o foIg ged A 3N 1 8

4. + Uferehe ™ Tfeex & feld Microsoft Visual Basic @iedr &

Question Number : 49 Question Id : 25498941509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcut in MS-Excel 2019 display the Create Table dialog box?
Options:

1.9 Ctrl + L

2. % Alt+T

3. ® Ctrl + Shift+ T

4. % Ctrl+ Alt+ L

Question Number : 49 Question Id : 25498941509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 ¥ fR=fafaa & @ oie @1 FiatS 2iféane fohue daeT ST ey Uefld awdr g2
Options:

1.9 Ctrl + L

2. % Alt+T

3. ¥ Ctrl + Shift +T

4. % Ctrl+Alt+L

Question Number : 50 Question Id : 25498941524 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

By using regression analysis, you can extend a in a chart beyond the actual data to predict
the future values in Microsoft Excel 2019.

Options :



1. # bar

2. % gridline
3. * legend
4. ¥ trendline

Question Number : 50 Question Id : 25498941524 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

gfar= fasawor (RAA ganfafdd) o1 Iuaii e, 3ma MS-Excel 2019 # wfasg & et (RER degsT) i
Yforsaamoft = & ol Tap a1é § arafas ST @ wR T fIdR &R Tohd &

Options :
1. % IR

2. ¥ e
3. ¥ doie
4. ¥ d&ared

Question Number : 51 Question Id : 25498941545 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In Microsoft Office, how many levels of Undo operations can be done in a sequence?
Options :

1. %10

2. % 50

3.4100

4. % 127

Question Number : 51 Question Id : 25498941545 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

MS Office & Ueh s § Undo 31TR=iT oht fohd= TRI ek fohar ST Gehat 87
Options :

1. % 10

2. % 50

3.+ 100

4, % 127

Question Number : 52 Question Id : 25498941553 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A background image can be added to an MS-Excel spreadsheet using the tab.



Options :

1. * Home

2. ® Insert

3. ¥ Page Layout

4, % \iew

Question Number : 52 Question Id : 25498941553 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

JRUSS SAST vl &9 T SUINT ehich MS-Excel Bresfte # Siter (U fohar) ST erar 81
Options :

1. ¥ g9 (Home)

2. ® 3¢ (Insert)

3. ¢ U1 o8’ (Page Layout)

4. % =g (View)

READING COMPREHENSION
Section Id : 2549898058
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 5
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898099
Question Shuffling Allowed : No

Question Id : 25498921325 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Concentration is very important for doing a job well. Whether it is reading, writing, listening,
playing a sport, singing, dancing, painting or any other task, it is essential to concentrate. But in
today’s world of noise and distractions it is rare that we can work in an environment favourable to
concentration. There are interruptions by means of television, loudspeakers, telephones, friends
and relatives etc. So, we must recognise the importance of concentration and make efforts to



develop it within ourselves.

We can define concentration as undivided attention to something. It is easier to concentrate when
we are doing something interesting because in such a case, we do not have to make a special
effort to concentrate; attention follows automatically. Lack of concentration bothers us when we
do not like or enjoy the job we are doing.

Constant practice can help us to improve our concentration. We should try to sit down to work at a
particular place and at a particular time. If we do that regularly, our mind gets used to working
even in the midst of distractions. Reading is an excellent exercise to train our mind to concentrate.
We should select difficult reading material so that our mind is fully occupied in trying to
understand what we are reading. If we follow this practice daily, our concentration shall improve
greatly.

There is a constant flow of thoughts in our mind. As a result, our mind tends to wander. We must
try to tackle one thing at a time. We must keep our body and mind relaxed. We must not allow
depression, fear of failure, or any negative thoughts to affect our ability to concentrate. We should
develop positive thinking and train our mind to concentrate. This will surely lead us to success.

Sub questions

Question Number : 53 Question Id : 25498921326 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
We do NOT require concentration for:
Options :

1. ® reading

2. * singing

3. # playing

4. ¥ laughing

Question Number : 54 Question Id : 25498921327 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of these can break our concentration?
Options :

1. % Relaxed body

2. ¥ Loud sounds

3. # Calm mind

4. % A fixed routine

Question Number : 55 Question Id : 25498921328 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Concentration may be defined as:



Options :

1. ® continuous labour

2. # continuous interruption
3. ¥ undivided attention

4. # undivided distraction

Question Number : 56 Question Id : 25498921329 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is FALSE?

Options :

1. ¥ Concentration can be improved by keeping regular working hours.
2. ¥ Concentration can be improved by letting the mind wander.

3. ¥ Concentration can be improved by reading difficult texts.

4. ® Concentration can be improved by doing one thing at a time.

Question Number : 57 Question Id : 25498921330 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What has an adverse effect on concentration?
Options :

1. ¥ Fear of failure

2. # Hope of success

3. # Constant practice

4. % Steady mind

Question Id : 25498921325 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)

fT Tq TTeriar ohl U SR Ik SMYUR WR usii & IR 2

forelt ohref et areedt AR @ A & g YerrrdT sigd Heayquf 81 UeH, forem, -, ohls @l Wer, T, 4, faseher
g7 fohelt 310 i & g &1 ohl UehT T i SMTaRTes @1 Aifche SMTSTehel o ShleiTgeTqul 3R SRIH-EAdT dTel
STHT H TehTd §Ihe IS hTH o UTHT Sgd Jhel 81 Sefiiaor, d1ds Wi, SefithiH, e ofk Heieht onfe 39
IgHEhT & AN hRuT §1 3afeig, 85 31u= 7 ohl TehT ohed o T 370+ 3ieR T &t e A1l

fohelt Uah gt TS UR T 3R 1Y €T ohl TehiIdT o &4 # TR fohdT ST TehdT 81 519 89 $© Addh e 36 Bid
&, dt T ohl Shigd SheAT ST SIAT & Sifch 39 &R ST chigd e oh forg fopedt srfafR<h uamg &t smavaerdr A1
TSl §; ST Wdl: B chisid 8T 6| gl STd H chls QT el &R 3@ B1d & St AR UHE & Ufdgel g, a8 g4 3a
e &A1 & SfR 4T Y TehTI &hx UTHT Hfehel &1 STl 8l

fARAR 19T gAY YehIaT & YR o3 H HGg e TohdT a1 g4 fohd! faiy T o ofiR fohedt fasiy oo R onrd
A & folT So+ ol T a1 ATfeT | e g9 afid ©9 @ 91 ed &, df 8HRT AfkIseh Yeahral o o off i s



T 7T Bl SITAT &1 UGHT AR HIISh oh Shigd T@ o folq UiRIfEId st T Ueh IpE S13TH &1 8 ahis UTsd
G} SRl IO hAT TITRY dTfch 89 STt @ UE 6 & 39 THSI ohl hifR1LT et | gHRT AfEISh T dvg § & STg|
e g9 UfafeT 39 19ATH T UTe e 6, df AR Tehiidl | Jiid R g

BHR Afsdteh H fAaRT &1 UaTg T TTaR 81dT I8dT & | URUMHAEEY, §HRT AfSdSh Ycth+ oF1dT &1 85 Ueh 99T § Uah &
ThTH T T TATT 3T I1gT | 81 370+ IRIR 3R AfSaseh ahl Q17 a1 I1feT | g7 3radTe, 917 1T fatherdar ar foredt
oft TR IR ot e Shied e i gHTRT &THdT bl U 8] et &1 13T | 8 YehRIcHeh g faenfad
T AT 3R e digd ot & fog R Afsass ot ufAfera seam anfeu | a8 AfYa w0 @ g8 atherar &Y stk &
ST

Sub questions

Question Number : 53 Question Id : 25498921326 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

gd A= A O fhgeh folg gerrar & srasaehar =81 gidt 82
Options :

1. % god

2. % g4

3. ® @em

4, ¥ &84

Question Number : 54 Question Id : 25498921327 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A & & oRIT gAR & ohl HIT R HehdT 872
Options:

1. ¥ fagrid ¥R

2. ¢ s @fagi

3. ¥ griq Afeash

4. % Uen (Y fererat

Question Number : 55 Question Id : 25498921328 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

UohTId bt fA1 & 9 fohg 0 § gRenfva forar S 9eprar 872
Options :

1. % gdad =

2. ¥ gdq ey

3. ¢ @i e

4, % HIMAT HehT



Question Number : 56 Question Id : 25498921329 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A= 4 9 o9 91 e Ted 82

Options:

1. # [fAa &R el ot 90 RG HR TRAICT dgdR i ST Gehd! &
2. ¥ O &t Yeh o T UhRIdT hl SgaR fohdT ST ehdT &

3. # opf&+ UTST bl UG S YhIIAT hl dgar fohdl ST TehdT &

4, % Yk IR H Teh hIH hed §Y TehTIdT ohl sigar fohdT ST HehdT &

Question Number : 57 Question Id : 25498921330 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A1 # & 1 gerrrdn ot ufdehel U & gTfad e 82
Options :

1. ¢ fatherdl o1 9T

2. ® HheldT <hl Smam

3. ® gad srgmg

4. % griq Afedsh

QUANTITATIVE APTITUDE
Section Id : 2549898059
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898100
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arun ordered 15 chapatis, 4 plates of rice, 6 plates of mixed vegetable and 5 ice-cream cups. The
cost of one chapati is ¥5, one plate of rice is ¥50, one plate of mixed vegetable is ¥75 and one ice



cream cup is ¥20. How much amount did Arun pay to the cashier?
Options :
1. ® ¥850
2. % X795
3. ¥ %825
4. % ¥750

Question Number : 58 Question Id : 25498928886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

30T 7 15 FUT, 4 Wie T1ae, 6 wie fag AfSdae 3R 5 SMEHshd U T HTeX [ATI Teh TUTT ohl Hed 5, ATael
H Uk wie T Jed €50, e AfSeae &l Ten wie &l Jed T75 3R MSEshIA & Teh U T Hed €20 81 31307 gRT
RIATR et fehd=t fRY AT FTar fehar sirgm?

Options :
1. ¥ 850
2. #3795
3. ¥ 3825
4. % 750

Question Number : 59 Question Id : 25498928959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The edge of an ice cube is 14 cm. The volume of the largest cylindrical ice cube that can be carved
out of it is:

Options :

1. % 2200 cu cm
2. % 2000 cucm
3. ¥ 2156 cucm
4. % 2400 cucm

Question Number : 59 Question Id : 25498928959 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

TF T % g (9F) & 49 14 FEA ¢ T 9 0 T 93 S9AER 95 & ghs F A
1 g

Options :

| % 2200 T EEHT

> % 2000 9T HEHAT



3 v 2156 =T T

4 % 2400 T TEHRT

Question Number : 60 Question Id : 25498929022 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What will come in place of the question mark (?) in the following series?

131319431037
Options :
1. % 221
2. % 227
3.9 223
4, % 217

Question Number : 60 Question Id : 25498929022 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Teafaf@a & g@en & geafed (?) & T W &7 AH7T?

13 13 19 43 103 ?
Options :
1 % 221

5 % 227
3 v 223

4 % 217

Question Number : 61 Question Id : 25498929121 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The average of x numbers is y and y numbers is x. What will be the average of x +y numbers?



Options :
2xy
1.+ xty

x+y

2. % 2xy

2(x+y)
3.8 Xy

4. % Cannot be determined

Question Number : 61 Question Id : 25498929121 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
x Tt &1 A y € 3N y Tt @ sted 1 g1 x + y Teanst & sitea Far gem?

Options:
2Xy
1. X+

x+y

> % 2Xy

2(x+y)
38 X

, « Teifa =@ fFar o wear 8

Question Number : 62 Question Id : 25498929496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The compound interest on a sum of 8,000 for 1 i years at 12% per annum, the interest being compounded five

monthly, is:

Options:
1. # 1,200
2.9 31,261



3. % %1,293
4, % %820

Question Number : 62 Question Id : 25498929496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e, w1t i o A A ey i @, at 28,000 & T W 124 A aftfer s g A liaﬁzﬁw
BIe dTell Tl T 3ATd v

Options:
| = 1,200

, » 1,261
5 % 1,293

4 % 2820

Question Number : 63 Question Id : 25498929499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Out of two sections A and B of a class, if 10 students of B shift to A, the ratio of students in Aand B
becomes 3 : 1. If 10 students of A shift to B, then the ratio of students in A and B becomes 7 : 5.
The ratio of the number of students in A and B is:

Options :
1.2:1
2.%3:2
3.%4:3
4, % 5:2

Question Number : 63 Question Id : 25498929499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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3. ® R
4. % 5:2

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549898060
Section Number : 4
Section type : Online
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Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898101
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910145 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to
the first word.

Oasis: Sand :: Island : ?
Options :

1. * River

2. % Sea

3. ¥ Water

4, = Waves

Question Number : 64 Question Id : 25498910145 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % 98
2. % g
3. ¢ Uit
4, % g

Question Number : 65 Question Id : 25498912924 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Study the given letter series and answer the question that follows.

HDYSMWNBQPOCRTBLZVEGUF

Which three letters have the same distance between them as they have in the alphabetical order,
though they have changed places?

Options :
1. % HMP
2. % NQZ
3. # QOE
4, ¥ YLF

Question Number : 65 Question Id : 25498912924 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
2 &t TS STeR-EAT ST ATYdeh ST hifoly 3R ST HaTdd U &l IR SIfoig|

HDYSMWNBQPOCRTBLZVEGUF

J@eT & o i 318RT & g I 81 31&R 8 fSia- sl quinTe 37 &4 8, gTeifch Ik WH sad f&d T €72
Options:
1. % HMP
2. ¥ NQz
3. ¥ QOE
4, ¥ YLF

Question Number : 66 Question Id : 25498918992 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following sentence has the first word and the last word left out. Select the pair from among
the given options that will fill the blanks so that the sentence becomes true and sensible.

is to Cork as Box is to



Options :

1. * Spout - Create
2. % Wine - Hat

3. ¥ Bottle - Lid

4, % Bottle - Crate

Question Number : 66 Question Id : 25498918992 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fAfafad arerr & @ gos iR sifaw 2ree ger iy g 81 ey 71g faehedt & & 39 2reg-gi ol ga ISy St e
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Options:

1. % A& - goH

2. % g - 2t

3. ¢ didel - TR

4, ¥ §idd - the

Question Number : 67 Question Id : 25498919892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different.
Select the one that is different.

Options :

1. ¥ Tomato
2. % Carrot

3. % Ginger
4. % Potato

Question Number : 67 Question Id : 25498919892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

faered & TR 2reg Ru U & S @ A fordY uepR @ Ierd 8, STaifh Tep S1Td €1 39 S1d {1sg T 9 hif Syl
Options :

1. ¥ THIR

2. % TSR

3. * 3

4. % 3]



Question Number : 68 Question Id : 25498939861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different.
Select the one that is different.

Options :
1. % Iron
2. # Nickel
3. #* Cobalt

4. % Aluminium

Question Number : 68 Question Id : 25498939861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

foeredt & TR 2reg feu 71U & fOd @ 9 fordt uepR & 71 &, STafch Ueh SIETTd & | 39 SISd *1G ol I hifoig|
Options :

1. % MR

2. % fafra

3. ¥ aldTec

4. ¥ gegHiH

Question Number : 69 Question Id : 25498939947 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This question consists of six statements followed by options consisting of three statements put
together in a specific order. Select the option that indicates a valid argument containing logically
related statements, that is, where the third statement is a conclusion drawn from the preceding
two statements.

: No window is a door.

: All poles are doors.

: No pole is a window.

: Some poles are not windows.
: Some windows are poles.

: Some doors are not windows.

mmgN W >

Options :
1.+ ABC
2. % ACB
3. % BDA
4. % DFA

Question Number : 69 Question Id : 25498939947 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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A: @15 ot fRageht, g=areT 8! gl
B: 9+t @4, Garst 8|

C: TS oft Torr, faeh 781 81
D: o® @4, feefhal 78l 81

E: go fasferai, @4 g

F: 3o gxars, fasforat gl &1

Options:

1. % ABC

2. % ACB

3. # BDA

4. % DFA

GENERAL AWARENESS

Section Id : 2549898061
Section Number : 5

Section type : Online
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Number of Questions to be attempted : 6
Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549898102
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895373 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Why is the Himalayan region poor in mineral resources?
Options :

1. # The Himalayan region is made up of crystalline rocks.

2. ¥ The displacement of rock strata has disturbed the arrangement of rocks and made it
complex.



3. # The climatic conditions are not suitable for exploration of minerals.

4. ® The rugged terrain makes exploration of minerals difficult and costly.

Question Number : 70 Question Id : 2549895373 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % fRarera & foheeehia Tgmi @ =T &1

2. ¢ ggHl o faearge 3 Igt i urdl ot regafedd o & g ok 38 Sifed o= fear 81
3. ¥ ggl I yafarofta fRfaai @A & srawor & forg Iugsh 6! &
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Question Number : 71 Question Id : 25498912541 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a site for in-situ method of conservation of flora?
Options :

1. ® Biosphere Reserve

2. ¥ Botanical Garden

3. # National Park

4. % Wildlife Sanctuary

Question Number : 71 Question Id : 25498912541 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

e & @ o9 a1 Wi a9afaat & gur-we (in-situ) TRefor i fafer @ gefaa a8t &2
Options :

1. ¥ FrAfERIR Rerd

2. ¢ gAfd Ia

3. ® g 3EH

4, ¥ g Sitg IR

Question Number : 72 Question Id : 25498912794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who among the following was named the White Lightning in cricket?
Options :

1. ¥ Adam Parore (New Zealand)



2. % Allan Donald (South Africa)
3. ¥ Ben Hollioake (England)
4. * Dion Nash (New Zealand)

Question Number : 72 Question Id : 25498912794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fohche & 1 7 & fohdt 'eg1ge g’ ot T &t 71g of1?
Options :

1. % geH R (Ysiieis)

2. ¥ U SiFTes (feror srhieh)

3. ® o gifcrsitch (§icts)

4, % {3314 A (Ysilcie)

Question Number : 73 Question Id : 25498932031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following names are associated with the classical music?

1.Swami Haridas
2.Syama Shastri
3.Thyagaraja
Options:

1. % Both 1 and 2
2. % Both2and3
3. % Both1and 3

4.+ 1,2 and 3

Question Number : 73 Question Id : 25498932031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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1. @Y gRerg
2. g St

3. ANRIST
Options:
1. % ohael 1 3R 2
2. % hae 2 3R 3
3. % hger 1 3R 3
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Question Number : 74 Question Id : 25498933662 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Despotism is possible in a:

Options :

1. % one party state

2. * two party state

3. # multi-party state

4. % two and multi-party state

Question Number : 74 Question Id : 25498933662 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

w1 7 & forg agaar d fRgpare (Despotism) W4d 8?
Options :

1. ¥ Qo UTdl 5T

2. ¥ qY Tl Iy

3. ¥ ggediiy Iy

4, % 3} 3R Igaciig I5g

Question Number : 75 Question Id : 25498935907 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
When cadmium ion (Cd2*) reacts with hydrogen sulfide (H5S), it forms
Options :

1.w,CdS

, o CdS;

5 % CdH

4 % CdyS

Question Number : 75 Question Id : 25498935907 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
T iy Smae (Cd2Y) grssis Tehrss (H,S) & a1 ufafehar ewar €, aY 78 AT 81

Options :
1. ¢ CdS

, « CdS;

5 % CdH

4 x CdoS
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Question Number : 76 Question Id : 25498941039 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun
during this process as they get to explore new arenas.
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Is Section Default? : Yes

Question Number : 77 Question Id : 25498941469 Question Type : TYPING TEST Display
Question Number : Yes Calculator : None

Portland cement is the basic ingredient of concrete. Concrete is formed when portland
cement creates a paste with water that binds with sand and rock to harden. Cement is
manufactured through a closely controlled chemical combination of calcium and silicon and
aluminium and iron and other ingredients. Many other commonly available natural
materials are also used to manufacture cement. Limestones and clay are some of those
materials. These ingredients are heated at high temperatures. On heating they form a rock
like substance that is grounded into the fine powder that we commonly think of as cement.
Bricklayer Joseph Aspdin first made portland cement early in the nineteenth century by
burning powdered limestone and clay in his kitchen stove. He laid the foundation for an
industry with his crude method. Cement plant laboratories check each step in the
manufacture of portland cement by frequent chemical and physical tests. The labs also
analyse and test the finished product to ensure that it complies with all industry
specifications. The most common way to manufacture portland cement is through a dry
method. The first step is to quarry the principal raw materials. Mainly limestone and clay
and other materials are used. After quarrying the rock is crushed. This involves several
stages. The first crushing reduces the rock to a maximum size of about six inches. The rock
then goes to secondary crushers or hammer mills for reduction to about three inches or
smaller. The crushed rock is combined with other ingredients such as iron ore or fly ash. It is
then grounded and mixed and fed to a cement kiln. The cement kiln heats all the
ingredients to about twenty seven hundred degrees fahrenheit in huge cylindrical steel
rotary kilns lined with special firebrick. Kilns are frequently as much as Twelve feet in
diameter. They are large enough to accommodate an automobile and longer in many
instances than the height of a forty story building. The large kilns are mounted with the axis
inclined slightly from the horizontal. The finely ground raw material or the slurry is fed into
the higher end. At the lower end is a roaring blast of flame. This flame is produced by
precisely controlled burning of powdered coal or oil under forced draft. Sometimes
alternative fuels or gas is also used to produce this flame. The material moves through the
kiln from top to bottom. During this movement certain elements are driven off in the form
of gases. The remaining elements unite to form a new substance called clinker. Clinker
comes out of the kiln as grey balls. The size of these clinkers is about the size of marbles.
Clinker is discharged red hot from the lower end of the kiln and generally is brought down
to handling temperature in various types of coolers. The heated air from the coolers is
returned to the kilns. This process that saves fuel and increases burning efficiency. The
cooled clinker is then grinded by the cement plant. It is then mixed with small amounts of
gypsum and limestone. Cement is so fine that one pound of cement contains around one
hundred and fifty billion grains. The cement is now ready for transport to ready mix
concrete companies. The modern dry process is the most popular and most common way to
manufacture cement.
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